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1. Question 2:

Are there further harmonisations (that could potentially be applied) to the rules that
define which transactions are reportable that would reduce or eliminate the challenges
around generating UTIs? In answering this question, please also describe the challenge(s)
and identify the jurisdiction(s).

(A h)
ARG OBI NI LWVRIBRD 8 % S o HR— IV IZ B W T UTE BARES | =7
AT AERHET DI ENTFREINWAEBEND BT, oI EB N E720,

2. Question 8:

Is the proposed division between events that should and should not require a new UTI
complete and correct (please refer to the proposal described in this section and the table in
Section 8? If not, please provide other cases and explain why they should or should not lead
to a new UTI being required.

(m A1)
BB =T ¢ — NP IE R (CCP) AT/ o 7 BEICHHLO UTI 4155
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3. Question 9:

Different jurisdictions may have different rules (including case law) defining which events
would require a new UTI to be created. Are respondents aware of any such differences?
What difficulties do these differences create in the creation of UTIs? If jurisdictions’
approaches to when a new UTI is required cannot be harmonised, are there other steps that
could be taken to avoid double-counting of transactions reported to different TRs?

(A2 h)
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4. Question 10:

Do respondents agree with the analysis of linking related transactions through lifecycle
events?

(=AU H)
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5. Question 14:

Which of the proposed solutions to linking reports subject to lifecycle events do you
favour? Do you see any difficulties in implementing any of the proposed solutions, and if
so, what are they?

(=AU R)
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6. Question 16:

Are there additional issues that should be taken into account in considering the
responsibility for generating UTIs?

(m A1)
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7. Question 17:

Would it be beneficial if the guidance did not provide for the harmonisation of rules for the
responsibility for UTI generation with respect to trades that are not cross-border? Would
there be disadvantages to this approach? Does the analysis of this idea depend on which
option is used for cross-border trades?

(=AU H)
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8. Question 18:

Do respondents agree with the high-level assessment of the Option 1 proposal for the
responsibility for generating UTIs? Please explain why or why not.

(A h)
High-level assessment & L CIX[REMIIZTRETH Y . Option 2, 3 (2~ b BEBE X 2 HE
BRI D52 EMTEDHT20, EERONRICRET S,

9. Question 21:

What are respondents’ views on the proposed Option 1 hierarchy for the responsibility
for generating UTIs? Are the steps necessary and sufficient? Are they defined
well-enough? Are there alternative ways of achieving Step 6?

(=AU R)
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10. Question 22:

Is it desirable to include the sort of flexibility represented by Steps 1-5? If so, where in the




hierarchy should the flexibility be provided?

(z A2 b)
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11. Question 25:

Do respondents agree with the high-level assessment of the Option 2 proposal for the
responsibility for generating UTIs? Please explain why or why not.

(=AU R)
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12. Question 26:

What are respondents’ views on the feasibility of the Option 2 proposal to the responsibility
for generating UTIs? Are there particular issues for respondents that operate in more than
one jurisdiction? How serious is the possible ambiguity in Option 2 and are there efficient
and suitable workarounds?

(A h)

FRAEADIZ I Option 1 TREIND L 5 i@/ — L OEANRE E LU, Option 2 Thiv
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13. Question 27:

Are there additional considerations relevant to the Option 2 proposal for the responsibility
for generating UTIs? If so, please describe.

(A h)
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14. Question 28:

Is a problem of enforceability created if the UTI was generated by an entity outside the
jurisdiction of one of the counterparties?

(A h)
HBARAERE L7,

15. Question 30:

Do respondents agree with the assessment of the Option 3 approach for the responsibility
for generating UTIs?

(A B)
FEOT NI XALPHEEINLEDOTHNIRFRETE 5,

16. Question 31:

Avre there particular challenges for authorities in monitoring compliance with any of the options for

the responsibility for generating UTIs?

(A2 h)
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17. Question 32:

Considering all three options presented for the responsibility for generating UTIs, do
respondents see other suitable solutions meeting the characteristics set out in Section 2?

(A b)
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18. Question 33:

Which option for the responsibility for generating UTIs do you regard as preferable? Why
is this? What would be the disadvantages to you if your non-preferred option was chosen?

(A B)
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19. Question 34:

Is the assessment about timing for UTI generation correct? Are there examples of timing




requirements from authorities that are incompatible with other elements of the proposed
UTI generation approach? If so, please describe them.

(A B)
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21. Question 35:

Do respondents agree with the proposed overall approach to UTI structure and format? If
not, please suggest alternatives that meet the characteristics?

(A R)
UTI @ structure 33 X O format (22T, K& ZaEFURIT 722\ 28, TH H 1T aggregation (2424
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22. Question 36:

Which of these possible UTI components, if any, are important and why? Is it necessary for
the UTI to have any of these components?

(m A1)
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23. Question 38:

Which components, if any, should be included in the UTI? Which components, if any,
should be used in UTI construction but not appear in the UTI? In answering this question,
consider both the components listed in the table above or suggest other components as
necessary. Please explain how the particular components contribute towards meeting the
characteristics set out in Section 2.

(A B)
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23. Question 39:

Should the UTI be solely a dummy code, i.e. a value that contains no embedded
intelligence? Why or why not? Assuming that other data elements regarding a transaction
(e.g. the identification of the counterparties, the date and time of execution etc.) will be
captured by the report to the TR, is it necessary to reflect such elements in the UTI?

(A2 h)
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24. Question 52:

Do respondents agree with the proposed implementation approach? Is there a risk that a
newly generated UTI would have the same value as an existing UTI as a result of these
proposals? Is it possible to estimate the size of this risk? What problems do respondents see
regarding “legacy” UTIs under this approach?

(A2 h)
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